Discussiones Mathematicae General Algebra and Applications 43 (2023) 111–120 https://doi.org/10.7151/dmgaa.1411

THE AUTOMORPHISMS HAVING THE EXTENSION PROPERTY IN A CATEGORY OF A FINITE DIRECT SUM OF CYCLIC MODULES

Seddik Abdelalim, Abdelhak Chaichaa

AND

Mostafa El garn

Laboratory of Topology Algebra, Geometry and Discrete Mathematics Departement of Mathematical and Computer Sciences Faculty of Sciences Ain Chock Hassan II University of Casablanca BP 5366 Maarif, Casablanca, Morocco

> e-mail: seddikabd@hotmail.com abdelchaichaa@gmail.com elgarnmostafa@gmail.com

Abstract

It is well known that the problem of characterizing the automorphisms, in the category of abelian groups, with the extension property is resolved [1]. But in other categories, it is a very difficult problem. This paper extends the result in [1] to a category of modules. Let A be a unique factorization integral domain (UFD). Consider M a direct finite sum of cyclic modules over A where $Ann_A(M) = \{0\}$ and α an automorphism of M. We give a necessary and sufficient condition such that α satisfies the extension property.

Keywords: integral domain, factorization, module, automorphism, torsion and torsion-free.

2020 Mathematics Subject Classification: 35B40, 35L70.

1. INTRODUCTION

Let A be a unique factorization integral domain (UFD) and M be a module over A. We say that α , an automorphism of M, satisfies the extension property if for

all monomorphisms $\lambda: M \longrightarrow N$ there exists $\widetilde{\alpha}$ such that:

$$\begin{array}{cccc} M & \stackrel{\lambda}{\longrightarrow} & N \\ \alpha \downarrow & & \downarrow \widetilde{\alpha} \\ M & \stackrel{\lambda}{\longrightarrow} & N \end{array}$$

is commutative, i.e., $\lambda \circ \alpha = \widetilde{\alpha} \circ \lambda$.

It is known that all automorphisms of a vector space satisfy the extension property. However, it is not always true for other categories. But there are some very important results in the category of groups. Schupp [7] proved that the automorphisms having the property of extension in the category of groups characterize the inner automorphisms. Pettet [6] provided a simpler proof of Schupp's result. Then, Ben Yacoub [4] proved that this result is not true in the algebra category. In order to generalize the result of Schupp, Abdelalim *et al.* [1] gave the characterization of the automorphisms having the property of extension in the category of abelian groups.

In another work [2], the authors considered the category that contains abelian groups. They proved that if a module M is a direct sum of cyclic torsion-free modules over a BFD, the automorphisms of M that satisfy the property of the extension are none other than the homotheties of invertible ratio.

Certainly, one of the generalizations of [1] other than [2] is the case where all or some of the co-generators of M are not torsion-free. To do this, consider the following example which illustrates where the problem of the extension's ownership lies. We know that $\mathbb{Z}[i]$ is a UFD. Let $n \in \mathbb{N}$: $n \ge 2$. For all $s \in \{2, 3, \ldots, n\}$, we will denote by p_s the $(s-1)^e$ prime number. $(p_2 = 2 < p_3 =$ $3 < p_4 = 5 < \cdots < p_n)$.

Consider, in the $\mathbb{Z}[i]$ -module $N = \mathbb{C}/\mathbb{Z}[i]$, the sub-module $M = \bigoplus_{s=1}^{s=n} \mathbb{Z}[i]\overline{x_s}$ where $\overline{x_1} \in \mathbb{C}/\mathbb{Z}[i] - \mathbb{Q}[i]/\mathbb{Z}[i]$ any torsion-free element and the torsion element $\overline{x_s} = \overline{1+i \cdot \frac{1}{p_s}}$ for all $s \in \{2, \ldots, n\}$. We can prove that, for all $s \in \{2, \ldots, n\}$, there exists a_s in $\mathbb{Z}[i]$ such that $\alpha(\overline{x_s}) = a_s \cdot \overline{x_s}$. Without using that α satisfies the extension property, we cannot conclude that a_2, \ldots, a_n are units in $\mathbb{Z}[i]$ neither $(**) \alpha(\overline{x_1}) \in \mathbb{Z}[i]\overline{x_1}$. The key idea is to prove (**).

In this paper, we are interested in the extension property of a special category of modules over A which is a unique factorization integral domain (not a field).

Let n be a non-zero natural integer and $M = Ax_1 \oplus Ax_2 \oplus \cdots \oplus Ax_n$ a direct finite sum of cyclic modules over A, such that $Ann_A(M) = \{0_A\}$.

Our paper is organized as follows. In the first section, we will briefly give necessarly importants results. In the second part, all the generators of M are torsion-free elements. We will prove that an automorphism $\alpha : M \longrightarrow M$ satisfies the extension property, if and only if there exists a unit k in A such that $\alpha = k \cdot 1_M$. And in the last part, M is no longer considered as a torsion-free module. Again with much more advanced techniques, we will prove that the homotheties of invertible ratio are the only automorphisms of M satisfying the extension property.

2. Preliminaries and notations

Definition. Let A be an integral domain, M an A-module x an element of M. The annihilator of x is the ideal $Ann_A(x) = \{a \in A/a \cdot x = 0_M\}$. The annihilator of M, is the ideal $Ann_A(M) = \{a \in A/\forall y \in M : a \cdot y = 0_M\}$.

Definition [5].

- Let x be an element of M. x is a torsion-free element if $Ann_A(x) = \{0_A\}$ and x is a torsion element if $Ann_A(x) \neq \{0_A\}$.
- We say that M is a torsion-free module if all its elements are torsion free.
- We say that M is a torsion module if all its elements are torsion.

Lemma 1. Let $M = Ax_1 \oplus Ax_2 \oplus \cdots \oplus Ax_n$ be a direct finite sum of cyclic modules over A.

M is a torsion module if and only if $Ann_A(M) \neq \{0_A\}$.

Proof. The proof is easy.

Lemma 2. For an irreducible element p in A, the set $I_p = \{p^n | n \in \mathbb{N}\}$ is infinite.

Proof. Suppose that I_p is finite, then necessarily $\exists (n,m) \in \mathbb{N}^2$ such that n < m and $p^n = p^m$. So $p^n(1-p^{m-n}) = 1_A \Longrightarrow p^{m-n} = 1_A$ (integral domain). Therefore p is a unit in A, which is not true.

Notations. Let $E_p(M)$ denote the set of all A-automorphisms of M satisfying the extension property. For $i \in \{1, 2, ..., n\}$, E_i will denote an injective envelope of $Ax_i, \mu_i : Ax_i \longrightarrow E_i$ a monomorphism of A-modules and

$$M_i = E_i + \sum_{k=1, k \neq i}^{k=n} A \cdot x_k.$$

Lemma 3. If α satisfies the extension property then α^{-1} also satisfies the extension property.

Proof. Let $M \xrightarrow{\lambda} N$ a monomorphism of A-modules, then there exists $N \xrightarrow{\tilde{\alpha}} N$ N an automorphism of A-modules such that $\lambda o \alpha = \tilde{\alpha} o \lambda$. We define $\alpha^{-1} = \tilde{\alpha}^{-1}$, it's clear that $\alpha^{-1} \in Aut(N)$. Let $x \in M$, so $\exists y \in M : x = \alpha(y)$ then $\lambda [\alpha^{-1}(x)] = \lambda(y)$. On the other hand, if we put $\tilde{\alpha}^{-1}[\lambda(x)] = t$. We will have $\lambda(x) = \tilde{\alpha}(t) \Longrightarrow \tilde{\alpha}(t) = \lambda [\alpha(y)]$, then $\tilde{\alpha}(t) = \tilde{\alpha}[\lambda(y)] \Longrightarrow t = \lambda(y)$. From where, $\lambda o \alpha^{-1} = \alpha^{-1} o \lambda$ hence the lemma.

3. Finite sum of torsion free cyclic A-modules

In this section, we suppose that x_i is a torsion-free element for all i in $\{1, 2, ..., n\}$. Let $\mu_i : Ax_i \longrightarrow E_i$ be a monomorphism of A-modules.

Lemma 4. For all $i \in \{1, 2, ..., n\}$, we have

$$M_i = E_i \bigoplus \bigoplus_{k=1, k \neq i}^{k=n} A \cdot x_k$$

and

$$E_i = \bigcap_{a \in A^*} a \cdot M_i.$$

Proof. We know that $E_1 \oplus E_2 \oplus \cdots \oplus E_n$ is an injective envelope of $Ax_1 + Ax_2 + \cdots + Ax_n$ (see [3]). Then

$$M_i = E_i + \sum_{k=1, k \neq i}^{k=n} A \cdot x_k = E_i \bigoplus \bigoplus_{k=1, k \neq i}^{k=n} A x_k.$$

As E_i is an injective envelope of Ax_i then a divisible module. For all $a \in A^*$,

$$E_i = a \cdot E_i \subset a \cdot M_i \Longrightarrow E_i \subset \bigcap_{a \in A^*} a \cdot M_i.$$

Reciprocally:

Let

$$t = e + \sum_{j=1, j \neq i}^{j=n} m_j \cdot x_j \in \bigcap_{a \in A^*} a \cdot M_i \subset \bigcap_{k \in \mathbb{N}} p^k \cdot M_i \text{ where } e \in E_i \text{ and } m_j \in A.$$

Then $(\forall k \in \mathbb{N})$ $(\exists e_k \in E_i)$ $(\exists (m_{j,k})_{j=1, j \neq i, j=n} \in A^{n-1})$ such that

$$t = p^k \left(e_k + \sum_{j=1, j \neq i}^{j=n} m_{j,k} \cdot x_j \right).$$

Moreover, as M_i is a direct sum of A-modules, by identification, we have

$$e = p^k e_k$$
 and $\sum_{j=1, j \neq i}^{j=n} m_j \cdot x_j = p^k \cdot \left(\sum_{j=1, j \neq i}^{j=n} m_{j,k} \cdot x_j\right)$.

If $\sum_{j=1, j\neq i}^{j=n} m_j \cdot x_j \neq 0_M$ then there exists $j \neq i \in \{1, 2, \ldots, n\}$ such that $m_j \neq 0_A$ and $m_j = p^k \cdot m_{j,k}$. So, $p^k \mid m_j$ for all integer k, which is false in a factorial integral domain by Lemma 2.

Hence $t = p^k e_k \in E_1$, that concludes the proof.

Under the previous notations, we have the following lemma.

Lemma 5. If $\alpha \in E_p(M)$, then $\widetilde{\alpha}(E_i) = E_i$.

Proof. We have

$$E_i = \bigcap_{a \in A^*} aM_i$$
 then $\widetilde{\alpha}(E_i) = \bigcap_{a \in A^*} a\widetilde{\alpha}(M_i) \subset E_i.$

Let now y in the divisible module E_i , then $\forall a \in A^*, \exists y_a \in M_i$ such that $y = a \cdot y_a$. As $\widetilde{\alpha} \in Aut(M_i)$ then there exists $x_a \in M_i$: $y_a = \widetilde{\alpha}(x_a)$, so

$$y = \widetilde{\alpha} \left(a \cdot x_a \right) \Longrightarrow y \in \widetilde{\alpha} \left(\bigcap_{a \in A^*} a \cdot M_i \right) = \widetilde{\alpha} \left(E_i \right)$$

Therefore $\widetilde{\alpha}(E_i) = E_i$.

Lemma 6. For all i and j in $\{1, 2, \ldots, n\}$. If $i \neq j$, then $M = A \left(x_i + x_j \right) \bigoplus \bigoplus_{k=1, k \neq i}^{k=n} A \cdot x_k.$

Proof. Let *i* and *j* in $\{1, 2, ..., n\}$ such that $i \neq j$. Consider $(a_1, a_2, ..., a_n) \in A^n$ and suppose that $a_i(x_i + x_j) + \sum_{k=1, k \neq i}^{k=n} a_k x_k = 0_M$. Then $a_i x_i + (a_i + a_j) x_j + \sum_{k=1, k \neq i}^{k=n} a_k x_k = 0_M$. As $\{x_1, x_2, ..., x_n\}$ is *A* free, then $a_i = a_i + a_j = a_k = 0_A$ for all $k \in \{1, 2, ..., n\}/\{i, j\}$. So, $a_1 = a_2 = a_1 + a_2 = a_1 + a_2 = a_2 = a_2 + a_2 = a_2 + a_3 + a_4 = a_4 + a_4 + a_4 = a_4 + a_4$ $\cdots = a_n = 0_A$. It's clear that $A(x_i + x_j) \oplus Ax_j \subset Ax_i \oplus Ax_j$. Let $x \in Ax_i \oplus Ax_j$ then $x = ax_i + bx_j$ where a and b are in A. So, $x = b(x_i + x_j) + (a - b)x_i \in$ $A(x_i + x_i) \oplus Ax_i$. Then the lemma follows.

Theorem 7. If $\alpha \in E_p(M)$ then $(\forall i \in \{1, 2, \dots, n\})$ $(\exists k_i \in A^*)$ $(\alpha(x_i) = k_i \cdot x_i)$.

Proof. Let $\lambda: M \longrightarrow M_i$ defined by If $x = \sum_{j=1}^{j=n} m_j \cdot x_j$, where $m_j \in A$ for all $j \in \{1, 2, \dots, n\}, \lambda(x) = m_i \cdot \mu_i(x_i) + \sum_{j=1, j \neq i}^{j=n} m_j \cdot x_j.$

As defined λ is a morphism of A-modules and we have

$$\lambda(x) = m_i \cdot \mu_i\left(x_i\right) + \sum_{j=1, j \neq i}^{j=n} m_j \cdot x_j = 0_M \Longrightarrow m_i \cdot \mu_i\left(x_i\right) = 0_M \text{ and } \sum_{j=1, j \neq i}^{j=n} m_j \cdot x_j = 0_M$$

However μ_i is injective then $m_i = 0_A$. As $\{x_1, x_2, \ldots, x_n\} \setminus \{x_i\}$ is A-free, then $m_j = 0_A$ for all $j \in \{1, 2, \ldots, n\}/\{i\}$. Then, $x = 0_M$. Therefore λ is a monomorphism of A-modules. We know that

$$\alpha(x_i) = k_i \cdot x_i + \sum_{j=1, j \neq i}^{j=n} k_j \cdot x_j \text{ where } k_1, k_2, \dots, k_{n-1} \text{ and } k_n \text{ are in } A.$$

As $\lambda o \alpha = \tilde{\alpha} o \lambda$ and by Lemma 5 we have

$$\lambda \left[\alpha \left(x_i \right) \right] = k_i \cdot \mu \left(x_i \right) + \sum_{j=1, j \neq i}^{j=n} k_j \cdot \lambda \left(x_j \right) = k_i \cdot \mu_i \left(x_i \right) + \sum_{j=1, j \neq i}^{j=n} k_j \cdot x_j = \widetilde{\alpha} \left[\lambda \left(x_i \right) \right] \in E_i.$$

And since E_i is a direct factor in M_i , $\lambda(\alpha(x_i)) = k_i x_i \Longrightarrow \sum_{j=1, j \neq i}^{j=n} k_j x_j = 0_M$. So $\alpha(x_i) = k_i \cdot x_i$.

Corollary 8. We have $E_p(M) = \{kid_M | k \in A^{\times}\}$, where A^{\times} is the group of units in A.

Proof. Applying the Theorem 7 for all $i \in \{1, 2, ..., n\}$ there exists $k_i \in A^*$ such that $\alpha(x_i) = k_i \cdot x_i$. We must find $k_i = k_j$, for all i and j in $\{1, 2, ..., n\}$ such that $i \neq j$. Applying now the Theorem 7, to M as asserted in Lemma 6, there exists $k_{i,j} \in A^*$ such that $\alpha(x_i + x_j) = k_{i,j} \cdot (x_i + x_j) = k_{i,j} \cdot x_i + k_{i,j} \cdot x_j = k_i \cdot x_i + k_j \cdot x_j \Longrightarrow k_{i,j} = k_i = k_j$ since $\{x_i, x_j\}$ is A-free. Then, there is $k \in A^*$ such that for all $i \in \{1, 2, ..., n\}$, $\alpha(x_i) = k \cdot x_i$. Therefore $\alpha = k \cdot id_M$.

We must proved that k is a unit in A. As α satisfies the extension property then α^{-1} also satisfies the extension property by Lemma 3. Then there exists $r \in A^*$ such that $\alpha^{-1} = r \cdot id_M$. As $\alpha \circ \alpha^{-1} = \alpha^{-1} \circ \alpha = k \cdot r \cdot id_M$ then $r \cdot k = 1_A$ which proved that k is a unit in A.

4. Direct finite sum of torsion free and torsion cyclics A-modules

Let $n' \in \mathbb{N}^*$ such that $n' \leq n-1$. In this section, we assume that $x_1, x_2, \ldots, x_{n'}$ are the torsion-free co-generators and $x_{n'+1}, x_{n'+2}, \ldots, x_n$ are the torsions co-generators.

For all $i \in \{1, 2, ..., n'\}$, E_i will denote an injective envelope of $A \cdot x_i$ and $\mu_i : A \cdot x_i \longrightarrow E_i$ a monomorphism of A-modules. Same as the Theorem 7 and corollary 8, we have the same result, but with a demonstration using the notion of a torsion element.

Lemma 9. For all $i \in \{1, \ldots, n'\}$, we have, $E_i = \bigcap_{a \in A^*} a \cdot M_i$.

Proof. It's clear that E_1 is a divisible A-module, so $E_1 \subset a \cdot E_1 \subset a \cdot M_1$ for all a in $A^* \Longrightarrow E_1 \subset \bigcap_{a \in A^*} a \cdot M_1$. Reciprocally, let $x \in M_1$ then $(\exists (f, c_2, c_3, \ldots, c_n) \in E_1 \times (A^*)^{n-1})$ $(x = f + c_2 \cdot x_2 + c_3 \cdot x_3 + \cdots + c_n \cdot x_n)$.

We know that $(\forall i \in \{n'+1, n'+2, \ldots, n\})$ $(\exists b_i \in A^* : b_i \cdot x_i = 0_M)$. Let $b = b_{n'+1}b_{n'+2}\cdots b_n \in A^*$. Therefore, for all $i \in \{n'+1, n'+2, \ldots, n\}, b \cdot x_i = 0$. Suppose that for all $a \in A^*, x \in a \cdot M_1$, then for all m a nonzero naturel integer $x \in b^m \cdot M_1$, consequently. If n' = 1, then $x \in E_1$. If $n' \neq 1$, then

$$\exists (e_m, a_{2,m}, a_{3,m}, \dots, a_{n,m}) \in E_1 \times (A^*)^{n-1} :$$
$$x = b^m e_m + \sum_{j=2}^{j=n} a_{j,m} b^m x_j = f + \sum_{j=2}^{j=n'} c_j x_j.$$

Let is suppose that $c_2x_2+c_3x_3+\cdots+c_{n'}x_{n'}\neq 0$, then there exists $j \in \{2, 3, \ldots, n'\}$ such that $c_j \neq 0_A$ and $c_j = a_{j,m}b^m$. So, there is an infinity divisors of c_j , which is false (because A is UFD). Therefore, $c_2 \cdot x_2 + c_3 \cdot x_3 + \cdots + c_{n'} \cdot x_{n'} = 0 \Longrightarrow x \in E_1$. For any $i \in \{2, 3, \ldots, n'\}$ with the simple transposition (i, 1), we find the first case. Then the lemma follows.

Lemma 10. If $\alpha \in E_p(M)$, then $(\forall i \in \{1, 2, ..., n'\})$ $(\exists k_i \in A^* : \alpha(x_i) = k_i x_i)$.

Proof. Let $\lambda : M \longrightarrow M_1$ be the morphism defined by $\lambda(a_1x_1 + a_2x_2 + \cdots + a_nx_n) = a_1\mu_1(x_1) + a_2x_2 + \cdots + a_nx_n$. It's clear that λ is a monomorphism of A modules.

As α satisfies the extension property, there exists $\widetilde{\alpha} \in Aut(M_1)$ such that $\lambda \circ \alpha = \widetilde{\alpha} \circ \lambda$. As $\alpha(x_1) \in M$ then $\alpha(x_1) = d_1 \cdot x_1 + d_2 \cdot x_2 + \dots + d_n \cdot x_n$, where $(d_1, d_2, \dots, d_n) \in A^n$. So $\lambda [\alpha(x_1)] = d_1 \cdot \mu_1(x_1) + \sum_{j=2}^{j=n} d_j \cdot x_j = \widetilde{\alpha} [\lambda(x_1)]$. And as we know that $\widetilde{\alpha} [\lambda(x_1)] \in E_1$, which is a direct factor in M_1 , then $\sum_{j=2}^{j=n} d_j \cdot x_j = 0_M \Longrightarrow \alpha(x_1) = d_1 \cdot x_1$. Same proof for all i in $\{2, 3, \dots, n'\}$, hence $\alpha(x_i) = d_i \cdot x_i$ $(k_i = d_i)$.

Lemma 11. If $n' \neq 1$, let $i_0 \in \{2, 3, ..., n'\}$. We have

• $x_1 + x_{i_0}$ is a torsion-free element.

•
$$M = A(x_1 + x_{i_0}) \bigoplus \bigoplus_{i=1, i \neq i_0}^{i=n'} Ax_i \bigoplus \bigoplus_{j=n'+1}^{i=n} Ax_j$$
 (*).

Proof.

- We have $x_{i_0} = x_1 + x_{i_0} x_1 \in A(x_1 + x_{i_0}) \bigoplus \bigoplus_{i=1, i \neq i_0}^{i=n'} Ax_i \bigoplus \bigoplus_{j=n'+1}^{i=n} Ax_j$. Let $a \in A$ such that $a(x_1 + x_{i_0}) = 0_M$ then $ax_1 + ax_{i_0} = 0_M \Longrightarrow a = 0_A$. $(\{x_1, x_{i_0}\} \text{ is } A \text{ free})$. Therefore, $\{x_1 + x_{i_0}\}$ is a A-free.
- Let $(a_1, a_2, \ldots, a_n) \in A^n$ and suppose that

$$a_{i_0}(x_1 + x_{i_0}) + \sum_{i=1, i \neq i_0}^{i=n} a_i x_i = 0_M.$$

Then

$$(a_{i_0} + a_1)x_1 + \sum_{i=2}^{i=n} a_i x_i = 0_M \Longrightarrow a_1 = a_2 = \dots = a_{n'} = 0_A$$

and $a_{n'+1}x_{n'+1} = a_{n'+2}x_{n'+2} = \dots = a_nx_n = 0_M$ $(M = \bigoplus_{i=1}^{i=n} Ax_i \text{ and } \{x_1, \dots, x_{n'}\}$ is A free). So $M = A(x_1 + x_{i_0}) \bigoplus \bigoplus_{i=1, i \neq i_0}^{i=n'} Ax_i \bigoplus \bigoplus_{j=n'+1}^{i=n} Ax_j$ (*).

Then the lemma follows.

Corollary 12. For all $i \in \{1, 2, ..., n'\}$, $k_i = k_1$.

Proof. By Lemma 10 we have for all i in $\{1, 2, ..., n'\}$, there exists an $k_i \in A^*$ such that $\alpha(x_i) = k_i \cdot x_i$.

Let *M* be defined as in Lemma 11, then by Lemma 10, there exists an $r_{i_0} \in A^*$ such that $\alpha(x_1 + x_{i_0}) = r_{i_0}(x_1 + x_{i_0})$. So $r_{i_0} = k_{i_0} = k_1$, and this for all i_0 a fixed element in $\{2, \ldots, n'\}$. Hence the corollary.

Lemma 13. For all $i \in \{1, 2, ..., n'\}$, $x_i + x_{n'+1}$ is a torsion-free element and

$$M = \bigoplus_{i=1}^{i=n'} A(x_i + x_{n'+1}) \bigoplus \bigoplus_{j=n'+1}^{j=n} Ax_j.$$

Proof. We have $x_i = x_i + x_{n'+1} - x_{n'+1}$ for all $i \in \{1, 2, ..., n'\}$, then $M = A(x_1 + x_{n'+1}) + A(x_2 + x_{n'+1}) + \cdots + A(x_{n'} + x_{n'+1}) + Ax_{n'+1} + Ax_{n'+2} + \cdots + Ax_n$. Let $(a_1, a_2, ..., a_n) \in A^n$ such that:

$$x = \sum_{i=1}^{i=n'} a_i (x_i + x_{n'+1}) + \sum_{j=n'+1}^{i=n} a_j x_j = 0_M.$$

Then

$$\sum_{i=1}^{i=n'} a_i \cdot x_i + \left(\left(\sum_{i=1}^{i=n'} a_i \right) + a_{n'+1} \right) \cdot x_{n'+1} + \sum_{j=n'+2}^{i=n} a_j \cdot x_j = 0_M.$$

So,

$$\sum_{i=1}^{i=n'} a_i \cdot x_i = 0_M, \left(\left(\sum_{i=1}^{i=n'} a_i \right) + a_{n'+1} \right) \cdot x_{n'+1} = 0_M \text{ and } \sum_{j=n'+2}^{i=n} a_j \cdot x_j = 0_M.$$

And as $x_1, x_2, \ldots, x_{n'}$ are a torsion-free elements, then $a_i = 0_A$ for all $i \in \{1, 2, \ldots, n'\}$ and $a_j \cdot x_j = 0_M$ for all $j \in \{n'+1, n'+2, \ldots, n\}$. Let $i \in \{1, 2, \ldots, n'\}$ and suppose that $a_i \cdot (x_i + x_{n'+1}) = 0_M$. Then $a_i \cdot x_i + a_i \cdot x_{n'+1} = 0_M \Longrightarrow a_i = 0_A \Longrightarrow x_i + x_{n'+1}$ is a torsion-free element.

Theorem 14. We have $E_p(M) = \{kid_M | k \in A^{\times}\}.$

Proof. Let $b \in Ann_A(x_{n'+1}) \setminus \{0_A\}$, so $b \cdot x_{n+1} = 0_M$. As $\alpha(x_{n'+1}) \in M$, then $\alpha(x_{n'+1}) = \sum_{j=1}^{j=n} a_j x_j$, where $(a_1, a_2, \dots, a_n) \in A^n$. Then

$$\begin{aligned} \alpha(bx_{n'+1}) &= ba_1 x_1 + ba_2 x_2 + \dots + ba_n x_n = 0_M \\ \implies ba_1 x_1 = ba_2 x_2 = \dots = ba_{n'} x_{n'} = 0_M \implies a_1 = a_2 = \dots = a_{n'} = 0_A \\ \implies \alpha(x_{n'+1}) = a_{n'+1} x_{n'+1} + a_{n'+2} x_{n'+2} + \dots + a_n x_n. \end{aligned}$$

By applying the result of Lemma 10 to $M = \bigoplus_{i=1}^{i=n'} A(x_i + x_{n'+1}) \bigoplus \bigoplus_{j=n'+1}^{j=n} Ax_j$ there exists $k_{n'+1} \in A^*$ such that $\alpha(x_i + x_{n'+1}) = k_{n'+1}x_i + k_{n'+1}x_{n'+1} = k_1x_i + k_{n'+1}x_{n'+1} = k_1x_i + k_{n'+1}x_{n'+1} = k_1x_{n'+1}$ $\alpha(x_{n'+1}). \text{ Then } (k_{n'+1}-k_1)x_i+k_{n'+1}x_{n'+1} = a_{n'+1}x_{n'+1}+a_{n'+2}x_{n'+2}+\dots+a_nx_n.$ Also, $M = \bigoplus_{k=1}^{k=n} Ax_k$ and x_i is a torsion free element, then $k_{n'+1} = k_1$ and $\sum_{j=n'+2}^{j=n} a_j x_j = 0_M \Longrightarrow \alpha(x_{n'+1}) = k_1 x_{n'+1}.$ The same proof for $\alpha(x_{n'+j}) = k_1 x_{n'+1}$ $k_1 x_{n'+j}$ for $j \in \{2, 3, \ldots, n-n'\}$, so $\alpha = k_1 i d_M$. As we know α^{-1} satisfies the extension property, then there exists $r \in A^*$ such that $\alpha^{-1} = rid_M$. Consequently, $r \cdot k_1 = 1_A$. Which completes the proof of the theorem.

Acknowledgements

We thank the referee and Abdelhakim CHILLALI for their suggestions and valuable comments.

References

[1] S. Abdelalim and H. Essannouni, Characterization of the automorphisms of an Abelian group having the extension property, Portugaliae Math. (Nova) 59 (3) (2002) 325–333.

https://doi.org/org/10.1016/j.jtusci.2015.02.009

- [2] S. Abdelalim, A. Chaicha and M. El garn, The Extension Property in the Category of Direct Sum of Cyclic Torsion-Free Modules over a BFD, in: The Moroccan Andalusian Meeting on Algebras and their Applications 2018, Ap, Springer, Cham. (Ed(s)), (2020) 313–323. https://doi.org/org/10.1007/978-3-030-35256-1-17
- [3] M. Barry, These: Caractérisation des anneaux commutatifs pour lesquels les modules vérifant (I) sont de types finis, Dissertation Doctorale (Université Cheikh anta diop de Dakar, Faculté des Sciences et Techniques, Département de Mathématiques et Informatique, 1998) 22–22.
- [4] L. Ben Yakoub, Sur un Théorème de Schupp, Portugaliae Math. (Nova) 51 (2) (1994) 231 - 233.https://doi.org/eudml.org/doc/47203
- [5] E. Kunz, Introduction to commutative algebra and algebraic geometry (Springer Science & Business Media, 2013). https://doi.org/10.1007/978-1-4614-5987-3

- M.R. Pettet, On Inner Automorphisms of Finite Groups, Proceedings of the American Mathematical Society 106 (1) (1989) 87–90. https://doi.org/org/10.1090/S0002-9939-1989-0968625-8
- [7] P.E. Schupp, A characterizing of inner automorphisms, in: Proc. Amer. Math. Soc. 101 (2) (1987) 226–228. https://doi.org/10.1090/S0002-9939-1987-0902532-X

Received 8 June 2020 Revised 5 October 2021 Accepted 13 October 2021